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Ex/Sans/UG/4.1/68/2019(Old System Old)

BACHELOR OF ARTS EXAMINATION, 2019
(2nd Year, 4th Semester)

SANSKRIT (Honours)

Course : IX

[ Principles of Paninian Grammar (B) ]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

õFæFWa ÒèÎFF: õF]ÞP;FÞF ÎFF;FÞUPáFÑÜFF ˜F õFÛFFÍFWÜFF: <
=+ - PæFÚFF;F:

1. EÍFXPáFP&F¶FWðF] õF[·FÂÜFk õFX¼FùÞµFk æÜFF&ÜFFÜF¶FFÛFh < 5×2=10

(=+) õæF¶FÎ·F: =+¶FFa—
(&F) P¼æF: =+ÛFa ˜F—
(;F) ¶F]ÛF»FFa˜˜F ÚFFæFæF˜FÎFF¶Fh—
(fF) ÍFd^æFÛFÑFFÜFWNÑFF¼FÎFÛFh—

2. EÍFXPáFP&F¶FWðF] ÂÜFXæÜFFa&ÜFF =+FÜFFa < 2½×2=5

(=+) GùXƒ¶FF»Fa¶æFFPÂÚFƒ¶FWÞÒÑ¶FFY æF˜FÎFÛFh—
(&F) E»FaPÎFÙFÎÍFÎFWÜFk õFk£FF—
(;F) =+ÛFWa¶ÜFÎF]æF_̧ FFY ÑF]ÎF: =+ÛFa;FeùµFÛFFÍFFÞPÎFæF_̧ ÜF»FaÛFh—
(fF) =+ÛFaµF: =+ÞµFõFk£FF õFÛÒ¼FÎFõÜF ˜F =+ÛFaõFk£FF—
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E»FæFF,
EÍFXPáFP&F¶FWðF] ÂÜFX: õFX¼FùÞµFk æÜFF&ÜFF =+FÜFFa < 2½×2=5

(=+) J=k+ PÂ=k+ P·F=+¦˜FF»F ˜F¶F]ð=k+ ÑF¦˜F=k+ ¶F»FF—
ÎFFÛFF»Fa GP¶F õFæFWaNPÛF ÑF‡FF: èFFõ·FW PÎFàPÑF¶FF:——

(&F) P=e+ÜFFÜFF ÃX¶F=+X ÎFFÜFk õFÛÙFÎÍFõÜF ÎF æFF˜F=+:—
ÎFFPÑF P=e+ÜFFÑF¼F‡FWÑFU õFÛÙFÎÍFõÜF ¶F] ÚFW¼=+:——

(;F) EÑFFÜFW ÜF¼]¼FõFUÎFk ˜FáFk æFF ÜFP¼ æFFN˜FáFÛFh—
ÍFd^æFÛFWæFF¶F¼FæFWèFF¸F¼ÑFF¼FÎFÛF]˜ÜF¶FW——

(fF) ¼]þF˜ÑF˜¼µ°ßPÍFÒP˜šP˜FÙFe[èFFõF]P¡FÛF»ÛF]ðFFÛFh—
=+ÛFaÜF]ƒ¶FõÜFF¼=+P»F¶Fk ¶F»FF õÜFFÎÎFUB=_+ðæFùFÛFh——

&F - PæFÚFF;F:
3. EÍFXPáFP&F¶FWðF] õF[·FÂÜFk õFX¼FùÞµFk æÜFF&ÜFFÜF¶FFÛFh < 5×2=10

(=+) ¶F_¶FUÜFF ¶F¶=_+¶FF»FWaÎF ;F]µFæF˜FÎFWÎF—

(&F) P¼=h+õFk&ÜFW õFk£FFÜFFÛFh—

(;F) EÎFW=+ÛFÎÜFÑF¼F»FWa—

(fF) ÑF¦˜FÛFU ÚFÜFWÎF—

4. EÍFXPáFP&F¶FWðF] ÂÜFX: õFõF[·Fk PõFPÊPæFaÍFWÜFF < 2½×2=5

(=+) =_+ðµFPêF¶F:,

(&F) ÎF&FPÎFPÚFaÎÎF,

(;F) HÑFõFPÛFÍFÛFh,

(fF) EÎFè˜F:—
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E»FæFF,
EÍFXPáFP&F¶FWðF] ÑF¦˜FFÎFFÛF]̧ FÞ k Ò¼WÜFÛFh < 1×5=5

(=+) iõFÛFõÜF¶FWj G¶ÜF·F =+»FÛFh EõFh-ÍFF¶FX: EF¶ÛFÎFWÑF¼ÛFh?

(&F) HÑFõF¡FaÎFõFk£FFPæFÍFFÜF=k+ õF[·Fk P=k+ ÜFWÎF õFÛFFõFW ÑF[æFaPÎFÑFF¶FX
ÚFæFP¶F?

(;F) iÎF¼UPÚFè˜Fj <õF[·FW ÙFCæF˜FÎF;FeùµFõÜF P=k+ ¶FF¶ÑFÜFaÛFh—

(fF) õFPæFèFWðFµFFÎFFk æF_P¸FÎFa, æF_̧ FõÜF ˜F PæFèFWðFµFÜFX;FX ÎF < GP¶F
æF˜FÎFõÜF P=k+ ¶FF¶ÑFÜFaÛFh?

(‘~) æÜFPÍF=+ÞµFÙFCæFeUPù: =W+ÎF õF[·FWµF ÚFæFP¶F?

(˜F) EF=+°FÞF¶Fh G¶ÜFWæF PõFÊW õF[·FW =+»Fk ÒF;;FeùµFÛFh?

–––––––––
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